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&= B Wi FZ R 39 38 77 8.4 68.6
EEB IEE A £k 48 44 92 21.6 70.4
3L g1l EEH £k 44 47 91 20.4 70.6
AL Heyxisy £k 46 45 91 20.4 70.6
v Al S £k 41 41 82 10.8 71.2
(v BIER = ELE £k 46 46 92 20.4 71.6
Igivs MR R/E £k 47 51 98 26.4 71.6
v g = £k 43 42 8b 13.2 71.8
9L BR —It £k 43 48 91 19.2 71.8
1013z e —PUBR £k 43 41 84 12.0 72.0
1141 E4AR = £k 49 47 96 24.0 72.0
12141 41 42 83 10.8 72.2
13(z 8 E#x £k 43 39 82 9.6 72.4
1441 Bk BE £k 42 39 81 8.4 12.6
1541 T B £k 43 44 87 14.4 12.6
1641 k4R —5 £k 48 45 93 20.4 12.6
1741 EA B £k 45 41 86 13.2 712.8
18z BR = £k 43 43 86 13.2 712.8
19z £ 87X £k 39 40 79 6.0 73.0
201z LN &R £k 43 42 85 12.0 73.0
2141 4 R IEK £k 57 46 103 30.0 73.0
22131 (i I S £k 40 44 84 10.8 73.2
231 BE == Bk 44 40 84 10.8 73.2
2441 hNe B 53 47 43 90 16.8 73.2
2511 =" A Bk 46 44 90 16.8 73.2
2611 =F H Bk 47 43 90 16.8 73.2
2711 g Al £k 45 45 90 16.8 73.2
2811 NEPE B £k 39 44 83 9.6 73.4
2911 ER #EE&E Bk 44 45 89 15.6 73.4
301z ERE Eif £k 48 47 95 21.6 73.4
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314z TE i £k 49 46 95 21.6 73.4
3241 40 42 82 8.4 73.6
331z B3R T £k 42 40 82 8.4 73.6
3441 B 5F £k 45 43 88 14.4 73.6
351 R x £k 47 41 88 14.4 73.6
361z BB S AL £k 45 48 93 19.2 73.8
371z 47 46 93 19.2 73.8
381z ERE IEE £k 43 37 80 6.0 74.0
391 NEF ORI £k 43 43 86 12.0 74.0
4041 —FAK #EX £k 49 43 92 18.0 74.0
4141 Fifp BES £k 40 39 79 4.8 74.2
4241 i =R £k 39 40 79 4.8 74.2
4341 ZH #FE= £k 49 42 91 16.8 74.2
4441 BRR fE— £k 44 47 91 16.8 74.2
4541 hEE B £k 41 37 78 3.6 14.4
4641 BE W £k 47 43 90 15.6 14.4
4741 =fE #E £k 43 40 83 8.4 74.6
4841 AOH BR £k 45 38 83 8.4 74.6
4911 e (& £k 38 45 83 8.4 74.6
501z FE H £k 42 41 83 8.4 74.6
5141 2P N = £k 43 46 89 14.4 74.6
5241 B KT Bk 47 47 94 19.2 74.8
531 41 40 81 6.0 75.0
54431 BIER B — £k 42 45 87 12.0 75.0
5541 R 2 £k 46 47 93 18.0 75.0
561z BFE BX £k 47 46 93 18.0 75.0
571 FE Tz £k 46 47 93 18.0 75.0
581z 2% EE £k 55 50 105 30.0 75.0
5911 45 53 98 22.8 75.2
601z e BBE £k 40 39 79 3.6 75.4
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6111 41 44 85 9.6 75.4
621 Nhe&H E= £k 45 46 91 15.6 75.4
631z 47 44 91 15.6 75.4
6441 I F £k 48 49 97 21.6 75.4
6511 ke T2 £k 46 57 103 27.6 75.4
6617 AAa +— £k bb 54 109 33.6 75.4
6741 s 1EF] £k 59 56 115 39.6 75.4
6811 HE 5 £k 39 39 78 2.4 75.6
691z B RER £k 44 46 90 14.4 75.6
704z fE4AR =E— £k 44 46 90 14.4 75.6
714z TE RE £k 52 44 96 20.4 75.6
7241 BR £k 50 46 96 20.4 75.6
7311 B4R P& £k 50 46 96 20.4 75.6
7441 il RIT £k 46 50 96 20.4 75.6
7541 Y RA £k 47 48 95 19.2 75.8
7641 FE BEH £k 48 53 101 25.2 75.8
TTHI FiE BE £k 55 52 107 31.2 75.8
7811 IR  F5 a8l £k 48 40 88 12.0 76.0
7911 BR B £k 46 48 94 18.0 76.0
801z EpE B £k 45 49 94 18.0 76.0
8111 =24 % £k 44 50 94 18.0 76.0
8211 FE F8 £k 45 49 94 18.0 76.0
831z s RS £k 39 42 81 4.8 76.2
8441 B 8®X £k 45 48 93 16.8 76.2
8513z ERE = £k 46 47 93 16.8 76.2
861z BIR ES Bk 49 50 99 22.8 76.2
871z FEE A Bk 52 47 99 22.8 76.2
881 45 47 92 15.6 76.4
8911 2zl =A Bk 51 47 98 21.6 76.4
901z 52 52 104 27.6 76.4
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9141 (e NI £k 43 48 91 14.4 76.6
921 HEE A £k 52 45 97 20.4 76.6
931z BRIER  ZhE £k 51 52 103 26.4 76.6
9441 F=p . B £k 47 49 96 19.2 76.8
951 NEFF B £k 49 46 95 18.0 77.0
9611 TE £33 Bk 51 49 100 22.8 77.2
97HL =iE E Bk 52 48 100 22.8 77.2
98fiL aiE B& Bk 43 44 87 9.6 77.4
99fiL BR E— Bk 44 43 87 9.6 77.4
1001z BrIER B 53 49 44 93 15.6 77.4
1011z EBE RE £k 51 48 99 21.6 77.4
10211 SR BUT £k 51 53 104 26.4 77.6
10311z kg £k 57 47 104 26.4 77.6
104411 Al R 53 52 52 104 26.4 77.6
1051z =B Rk Bk 58 52 110 32.4 77.6
1061z Ea4R BBE 53 63 53 116 38.4 77.6
1071z TR AUl Bk 41 50 91 13.2 77.8
108fiz EeaR 1E— Bk 43 48 91 13.2 77.8
1091z T =— 53 47 50 97 19.2 77.8
1101 WA 3k Bk 49 54 103 25.2 77.8
11111 =fE FEH 53 42 42 84 6.0 78.0
1121 Il IEE 53 48 42 90 12.0 78.0
11341 IR B 53 46 44 90 12.0 78.0
1144z A A £k 50 46 96 18.0 78.0
1154z T TE £k 50 46 96 18.0 78.0
11641 46 43 89 10.8 78.2
1174z ERE FEE& £k 50 45 95 16.8 78.2
118fir EBe  HIBA 53 47 48 95 16.8 78.2
1191z Bl =k £k 45 43 88 9.6 718.4
12041 ARk B B 44 50 94 15.6 78.4
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121141 HHE % £k 48 46 94 15.6 78.4
12211 g #2817 £k 49 51 100 21.6 78.4
12311z AR B— £k 54 46 100 21.6 78.4
12441 NEFF O ORAE £k 47 53 100 21.6 78.4
125111 FE X £k 43 44 87 8.4 78.6
12611 BB A £k 44 49 93 14.4 78.6
12711 20 N = 53 52 47 99 20.4 78.6
12811 NEE KA Bk 49 49 98 19.2 78.8
12911 ae &= 53 50 48 98 19.2 78.8
1301z ¥ BHX Bk 54 50 104 25.2 78.8
13111z AR BE £k 56 54 110 31.2 78.8
1321 Ak = £k 48 49 97 18.0 79.0
1331z FEH Bk 51 52 103 24.0 79.0
134411 ®EE —% Bk 56 47 103 24.0 79.0
13511 =1 = 53 49 47 96 16.8 79.2
1361z TE =EE 53 53 54 107 27.6 79.4
1371 WA H3E 53 58 55 113 33.6 79.4
138fir FyH 5L Bk 52 48 100 20.4 79.6
139z iR =5 Bk 54 58 112 32.4 79.6
1401z BRI BIE Bk 48 51 99 19.2 79.8
14111 BEA Bk 49 50 99 19.2 79.8
14211 N\V& BY¥ 53 53 58 111 31.2 79.8
1431z TE #Hik Bk 54 44 98 18.0 80.0
14441 EAR R £k 53 57 110 30.0 80.0
1454z Bl &= £k 47 50 97 16.8 80.2
1464z Mol BT £k 47 50 97 16.8 80.2
1474z I R3E £k 52 50 102 21.6 80.4
1481z EER fEE £k 49 51 100 19.2 80.8
14941 IR BEA 53 52 58 110 28.8 81.2
1501z TR $%RE 53 42 42 84 2.4 81.6
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1511z fe4 AR 1ERR £k 60 54 114 32.4 81.6
15211z BwR = £k 55 52 107 25.2 81.8
15311z A S £k 49 52 101 18.0 83.0
154411 B EBF £k 61 62 123 39.6 83.4
15511z FEE AL £k 55 61 116 32.4 83.6
15611 2tTR I 53 51 52 103 18.0 85.0
15711 EAaR Bk 75 69 144 58.8 85.2
15811z kiE B £k 56 62 118 32.4 85.6
15911 BrIER B £k 83 64 147 60.0 87.0
1601z BRIER  EfE 53 60 60 120 32.4 87.6




